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VSON4 1a 20V 1,000mA G3VM-21UR11 G3VM-21UR11(TR05) 500

 G3VM-21UR11

LED IF 30 mA

 IF/ 0.3 mA/  Ta 25  
LED  VR 5 V 

 TJ 125  
AC/DC VOFF 20 V 

AC/DC IO 1,000 mA 

 IO/ -10 mA/  Ta 25  
Iop 3 A t=100ms Duty=1/10
TJ 125

1  VI-O 300 Vrms AC 1  
 Ta 40 85  

 
 Tstg 40 125  

  260  10s 

1 LED
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G3VM-21UR11 MOS FET

■ Ta 25

■

  G3VM-21UR11   

LED  VF

1.1
V IF 10mA1.27

1.4
 IR 10 μA VR=5V

 CT 30 pF V 0 f 1MHz
LED  IFT 3.0 mA IO 100mA
LED IFC 0.1 mA IOFF=10μA

 RON
0.18 Ω IF 5mA t 1s IO 1,000mA
0.22

 ILEAK 1 nA VOFF 20V
COFF 40 pF V 0 f 100MHz t 1s

 CI-O 1 pF f 1MHz VS 0V
 RI-O 108 MΩ VI-O=500VDC ROH 60  

 tON 2 ms IF 5mA RL 200Ω
VDD 10V 2 tOFF 1

2

G3VM-21UR11

AC/DC VDD 16 V 

LED  IF

5

mA 7.5
20

AC/DC IO 1,000

 Ta -20
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